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No supplementary answer-book will be given ¥lany candidate. Hence the candidates should write the

answer precisely in the main answer-book only.
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Answers to short answer-
question of descriptive part should be answe
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type questions must be given in sequential order. Similarly, all the parts of one

redcin one place in the answer-book.

Write your roll number on question paper before|start writing answers of questions.
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Note:- Question paper consists of three parts A, B and C.
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Part-A: 20 marks HT-31: 20 3>

Part A is compulsory having 10 very @ort answer-type questions (with a limit of 20. words) of
 two marks each. The first question is @sed on knowledge, understanding, and applications of

the topics/text covered in the syllabu.sg
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Part-B: 20 marks 8T1-8: 20 3@

I\’qrt B of the paper shall consist of 4 short answer questions selecting one question from each unit of 10
marks each. Attempt any two. (Words Limit 150)
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Part-C: 80 marks 4T1-9 : 80 3id O
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Part-C of the paper shall consist of 4 units each unit carrymg fDiescrzptlve with mternal choice. Students
shall attempt 1 question from each unit. Each question carrzek\20 marks. (Word Limit 300)
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Part-A/d{I-HA

1. (i)  Define Financial Management? 4R NAD R [10X2‘¥'20]':
R e o s e T
(i)  What is Income statement?
3 fyaRor o @ @2 g B
(i) Write four advantage of adeq@e working capital? i
(iv)  What is liberal credit pohcy? \ | Pt i Vs ; o T /\ ; : ot
IR | A 74 8?
(v) What do you understand by trade credit?
ZRe TG ¥ 31 FT F‘T@ # 4 | | ;
(vi) What is time value of money? g ' | ‘
bir & v g &7 %
(vii) Define combined leveraée. S
e JeeT B IR B
(viii) What 1s the cost of retained earnings?
sRrenRa a7t ot eI T ??
(i;c) What do you mean by mtemak[ate of return? _
% amﬁa g & %f 3 el amﬁ &?
| (x) ~ What is bonus share? %
\ | a‘1=m 3791 @ &7
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| Describe the objectives and i mmportance of caplotgl budgeting?

(i)  Liquid Ratio |55 a8 |

B (Property plant & eqmpment/ plfOPlrletory f‘mds)
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What are the obJectlves of financial statements? Describe the essential qualities of financiaf |
Statements ' “ [S+5) |
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What do you mean by cash management? Write advantages of cash management.

Describe the factors affecting capltal structureg ; ‘ [10]
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Part-C/qR1-9
Umt-l/sané |

What considerations would you keep in mn@whﬂe drafting a financial plan for an indstrial
concern? What are the limitations of ﬁnanc1381anmng‘?
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OR/3at

From- fhé following information prepare a Balance sheet of Krishav Ltd.
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(i)  Current Ratio 2.5

9v9200929

(iii) Propnetory Ratio - 0.75




(iv)  Working capital Rs. 60,000
(V) Reserves & surplus ~ Rs. 40,000

(Vi)  Bank overdraft Rs. 10,000

(Vi) There is no long-term loan of fictitious assets) [20]

Unit-11/g8-11

What is the concept of working capital? What factors determine the needs of working capital?

How is it measured? [4+8+8l
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Gaurav Ltd. is the manufacturer of picture tubes for T.V. Details of its operations during the year

2022-23 are as follows. ;
ke o o fo & fore Rewr g S Ffar &2 202223%3&35&‘\@3#@%3@1%1:%&%%

Rs. 100 per order

Ordering cost

Inventory carrying cost . 20% p.a

Cost per tube Rs. 520

Minimum usage 50 tubes per week
Maximum usage 200 tubes per week~
Normal usage 100 tubes per week

Lead time to supply 6-8 weeks.

You are required to find out following information.

(i)  Economic order quantity
(i)  If supplier is rcady to supply the rcquu'ed quarterly consumptlon of units at a discount of
Rs.5 per unit, is it worth accepting? . :

‘
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(1)  Re-order level, . AR '
(iv)  Maximum level of stock.

(V) Manimum level of stock.
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Unit-TI/gemR- 111
The bapital structure of Vandana Ltd.is as under g '
e o0 o G5 e P s 7
‘ L Rs.
2,000 6 % Debentures of Rs. 100 each ( ;ssue) 2,00, 000 1
1,000 7 % _Débeﬁmes of Rs. 100 each (11 issu_é) 1, 00, 000 l
2,000 8 % Cum. Prefergppg: sh_alrgs ,Of Rs. 100 gach s 2, 00, 000 |
4,000 Equity shares of Rs.100 dioh 4, 00, 000
Retained earnings. 1,00,000 - | e

The mmmgs per share of the company in the past many years has been Rs. 15. The shares of he |
Company are sold in the market at book value. The Company's tax rate is 50 % and share hold ers

' personal tax habxlxty is'10% . Find out the weighted average cost of capital.
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WRe@E ' ~ 10,00,000%. | 15,0000 %.
gt Stet it e 6 af |
% g1 g gd aive 3 : 3, 45,0009, 4, 55, 000 %.

OR/3Yar
Write short notes op, the following

(@)  Theories s of capital structure.

(b)  Capitalization

Fretferiaet o i Rt e
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(b) et ' | : [10+10)
Unit-TV/3aR-IV.

The management of X Ltd. is considering to select a machine out of the two mutually exclusiye
machines. The company's cost of capital is 12 % and corporate tax rate for the company is 30 %.
Details of the machines are as follows : }

Machinel | 'N'I‘achine I
s Uk machine | Rs. 10,00.000 1 ¥Rs.15;00,000
Expected. life 5 years - 6 years
Annual Income before tax and depreciation Rs. 3, 45, 000 Rs. 4,‘%5 5,000

Depreciation is charged on straight line method. You are required to.

(i)  Calculate the discounted pay back period, net present value and Internal rate of return for
each machine. ‘

(i)  Advice the management of X Ltd. as to which machine they should take up.
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What is dividend policy? Examine the essentials of a sound dividend policy. -
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